Rotational Motion Summary
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	Acceleration
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	Inertia
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	Cause of Acceleration
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	Second Law
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	Power
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	Kinetic Energy
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	Momentum
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Kinematic Analogs

	Linear Equation
	Rotational Equation
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Linear and Rotational Connections      
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Other Rotational Concepts
Centripetal Acceleration - 
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Rolling without Slipping - 
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Sphere, rolling without slipping - 
[image: image34.wmf]2

7

10

total

KEmv

=


Moments of Inertia  Particle: 
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Parallel Axis Theorem - 
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Conservation of Angular Momentum - 
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Equilibrium of Rigid Body - 
[image: image42.wmf]=

å

F0

 and 
[image: image43.wmf]0

t

=

å


_1116744529.unknown

_1116744880.unknown

_1116745523.unknown

_1116746045.unknown

_1116746107.unknown

_1159587572.unknown

_1159587757.unknown

_1159587758.unknown

_1159587634.unknown

_1159587506.unknown

_1116746075.unknown

_1116745646.unknown

_1116745687.unknown

_1116746005.unknown

_1116745701.unknown

_1116745667.unknown

_1116745635.unknown

_1116745580.unknown

_1116745005.unknown

_1116745029.unknown

_1116745488.unknown

_1116745018.unknown

_1116744939.unknown

_1116744726.unknown

_1116744801.unknown

_1116744858.unknown

_1116744827.unknown

_1116744775.unknown

_1116744567.unknown

_1116744712.unknown

_1116744548.unknown

_1116744453.unknown

_1116744500.unknown

_1116744513.unknown

_1116744484.unknown

_1116744323.unknown

_1116744429.unknown

_1116744430.unknown

_1116744431.unknown

_1116744339.unknown

_1116744307.unknown

_1116744315.unknown

_1116744285.unknown

